20208 HIZ2 Hl& 3

M1 HIZ8 20208 & MH=2 953,085,000& 0104,
Z NM=H2 953,085,000 Ol Ct.

M2z 1. MEg-ME2 BA= ME-AE et 20,

2. Mo =2 e sy 20.(& = & ¢9)
1) ¥REX3 795,597,000 & 2) gantRg34Y 84,000,000 &
3) 2R3+¢ 8,000,000 & 4) A= 900,000 &
5) &g 240,000 & 6) 0123 64,348,000 &
g 953,085,000 &

3. MZE2 HEe Us 20.(&2 = & &)

1) o1l 740,847,000 & 2) YRFLH| 800,000 &
3) 2l 80,300,000 & 4) THeHZ= A 31,500,000 &
5) At 99,578,000 & 6) GiiHIHIZIIEt 60,000 &

g A 953,085,000 #

M3k 20208 = HAIOIZAtE 2 SAIOIFAIEH SAA2E ZLH.

M4z 202098 &= HISHI AtE 2 AHISHl A% 20

HbL =JF L= NAMEFH WFE EX3 & =294 FE83H s2
SIEBE0ue g8 0ld0l AtEE = U200, 0le R F=IotE 8
Ol &HOIl BHHGHOF 2FLH.

HexX MZEZHIJ 85 FR0= M=K HESHAE M6
S| Aot Hlats M =+ RUCH

N7 JIEH 28 A






